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MAT 012 PRACTICE TEST 3
Prof. Clayton Will not be collected, but will help you prepare for the test.

*************************$$***************$***********************************

For the “roots” and “radicals”, we are assuming that all variables/variable expressions stand for

positive values unless the instructions specifically state that the variables/variable expressions
can assume ANY real value.
******************************************************************************

1. Find the two solutions of the equation ~ |2x—5|-3=10

+3 +3
[2x -5| =13
ZKX*-gh: -3 =13 Z.K -~ 5 =—f3
+&  + 5 +G .
2x= -8 Zx =18
2 £ 2 =
X=-4 J x = 9

2. Solve, then graph the solutions on the number line, also give the answers in interval
notation. 1<3x+4<16

—y =¥ -y
~3 4 3x 412
3 3 3
—~l £ x &4

In interval notation:

E- . 1.“."-‘."‘\ > L_- i "I)

Give in interval notation: } (
4 3
(-0, =91 U (3,00)

4. Solve, then graph the solutions on a number line and state them in interval notation:

(5]

|4x-9|+2>13
-2 -2
l9x-4[> 1
x -9 £ -1 ovr 4x—-92> 1l
+ 4 +9 + 9 +9
x £ -2 4x 220
Iy ¥ 4
-1
X -3 v X 95

W—WM Interval notation:
(—-00, *é) U (5_, D°)

[
-
i
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5. Solve, then graph the solutions on a number line and state them in interval notation:

~4]2x-7|2-12
— —Hf
[2x-2 &3
—3 £ 2x-73 £33
3 +3 43
&4 e« z2x &0
2 = z
Z £ x <« &

SorLuriens

Interval notation: E 2, 5]

|6x—8|>-10
pPe J’ll'ﬁ'vﬁ > heg ecehve
alw ay § TRUE

All veal nuwmbevs, R
Same o ¢ (—-—nq 50)

—

. 4 ¥
z S
6. Solve |3x-2|<-7 4. Solve
po Sikive & ne ga KNve
alweys FALSE
ho Solutions
5. Give the solutions to x> =25
s ~ ';/ x=5
6. Simplify: V49x° = Fx°
15 5 LA
7. Simplify: a6 = q2° 4r°° " 5
8. Simplify: Y-64x® = —Hx
1 L
9. Evaluate [iJ_ ' ,_(i:i_! 3 Ml
81 | ‘rﬁ"
10. Convert to an equivalent expression with no negative exponents. Then write in radical
notation: a%b"; = Cl; 3V”‘3 Q

11.

_ala

4t

r—' N T

g mphf,znl UCA"-”-?"

Convert to an equivalent expressmn with no negauve exponejnts Slmpll y and write in

% L. .3

radical notation:

c-‘b‘*z a a _/6

a’ X’

R

a 5

3

¥



..(OL(J.T‘!@AJS

12. Combine, mmphfy and glvc the answer in radical notation: 4/x - /x>
5 #4— % J- 3 ;' * £+ Vs J
e - Wt = = 4 12 712
r X X X' = X = x = x = x = o

13.

14.

15.

16.

17,

18.

19:

20.

21

2.

23.

Write in fractional exponent notation: 3/(4x)’ =

Gy

Simplify the numerator. Then write with no negative powers and convert to radical notation:

1
= 3 S 1
1253 _ —‘—"JI“:—:{: 5)(1: S-F

1 2

- z
= ¥ 5
%5 = X X .2

Simplify: {¥2x = &7 Aternoboty: Jza Cz,() (z,<)z "-_-(Z,()":\‘?IZx

L L
s !5
simplify: ¥z = ' x Alkern ebively : \l (x) : e e /e
Simplify : {320 = (1&-&5.5‘ f =

Simplify: §/4096 x'® y" 4 )( ‘J
— . £ 8
Simplify: /810 a'' 5° = \L@ !OQG -—~ Qa’ b \lfoa.

simplify 481"y = Y@NI(G y* = 3y "\/"’JT

. ; ‘ 5
Combine and simplify as much as possible: v3x” -y/6x* = { 18 9 =@ Le@( =3x Yzx

Combine, then simplify as much as possible:
R EE TP N s M M

Combine, then simplify as much as possible:

N 5 -
o [is5" _ 49a’ﬁ”:ﬁ_fz\)@-s,@,&_g ey
4b V222 Vg £ & g 9:«'_ B




fo LT =200

32y10x_]0 3 x 5 32_ & 32 lf/gz r 2 3

243 ¥ T 349

25. Simplify  3,/8+/32-4,/50 = 3{4.2 +{lo-z — 4 V252

—_
—

32427+ 4N -4, Y7

= V2 + v N7 - 20 T
= —jo Yz

26. Simplify 2,180 +./12-448-45 = 2{36-5 « (4.3 — 4{le-3 —/9-5

2.6 V5 + 202 —4.4V3 =31
2 V5 + 2V3 —1eN2 —3Vs’

QVs — 143

L

"

]

¥, 9 Xz g
27. Find the distance between (-4, ?0) and (2, 6‘:3.

Give the answer exact and then a decimal approximation (rounded to one decimal place.)
= (= ,
d = \/(jt' 407+ K =-x)®
(o -
%) « 2+ 4)

= V(O ¢?
= ql(, + 36
= ch- & exack - qgl Sbwme as yaz = 212
7y
o.lk.
A

~ _‘?'7.- & dcéq‘mc.!
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28. Algebraically, find the midpoint of the line segment from (-9, —7) to (1, 3)

(Give your answer in ordered pair notation.)

_ X1+ X : 4
xn._.__._....'. 3'1; ?-2-"" '

Z
Kq= 15(-9)_ 1-9 _ -8 __ :
n 2 = 7 = Ty * h*dp.-:uéf. : (-— "f/ —Z)
- }—L__-;)- 3-—-?._ j"'"Z.
3" z T Tz -

29. Multiply and simplify: S\/E(B\E—\/g)
S (317 -V5) = is¥i" - 5[50

30. Multiply and simplify: (5J§—3J§)(4J§—2ﬁ) =2203—loVz2I —1z\Ve + 6 Vg
iy = Go —loNz1 —12Yé + ¢ |4

Same ¢ z(?o-cﬁT—fa \(?4-3@)

For these last problems, each variable can assume ANY real value. (Put absolute value where
necessary, but ONLY where necessary.) If the expression is not defined in the real numbers, say
so. If the expression cannot be simplified, say so.

31.a) Evaluate y-216 = -6 b) Simplify  Vx'"® = { x 9]
: . 3fea3 : ; x? X
¢) Simplify 64x’ = &4 x d) Simplify —=r= =g
Y J
e) Simplify Y625: = | § ] f) Simplify —v36x° = —| 6x"?|

g) Evaluate 8/—64 = uadelined h) Simplify ~ }/x*y"* = xgj?"

i) Simplify —/-343x" = j) Simplify x*+25 = Cannet be
(-3 = 3,5 Fiimplifie d

k) Simplify Vx?-6x+9 ={(x-3)(x-3)
= ((x,g)z ] lK-}l
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32. Simplify: L (D = x?

2
-4 4
3 3 x3 4 X T X 2
4 X K X _ I = -
i_zz —;i-r—xL' 7'l l’l‘l ‘_"fx :RLX
X x - = : =
55 7T, B8 s x2 3.X_ 5 3 -5x’
X X “;3'7_';'; X* | x|
x(‘-f-x—?)

33. Simplify (After the initial steps, don’t forget to factor and simplify again): L (D = S

2 2
;2‘632:“;?'&_:5“?'# a®~ A" (arB) -
LI | LB S azbttazlr+a,bz— alr (o)
b a %‘ ‘ o |

- a-4
T alr

! [}
LR S
famcqs 4 a#h,er @



